Furnishing Budget of Samuel G. Mooney Elementary School in Gyaboland/Garraway, Grand Kru County, Liberia, West Africa

Gyabolanders-US, Inc is a non-profit organization promoting social, economic, and educational projects in Gyaboland, Grand Kru County, a region commonly called Garraway. The organization has an on-going school construction project which comprises of three (3) phases: 1) Construction of a school building, 2) Furnishing of the building, and 3) Teachers training program. School has a current Register of 325 students and increasing due to being the only early grades school in the area. Grade level ranges from Kindergarten to 3rd Grade. Building Under Construction with seven (7) classrooms to be separated by Freestanding Portable Partition/dividers. The current estimated cost of furnishing is \$17,251. Our gratitude to the Freeport/Merrick Rotary club for their continuous support/partnership on the furnishing phase of this Literacy Project. www.gyaboland.org

Gyabolanders –US, Inc Current Garraway Project Photos

Students at S.G. Mooney Elementary School





Gyabolanders –US, Inc Current Garraway Project Photos



Gyabolanders-US, Inc. Ongoing School Construction Project



On-going construction



Budget for the School Furnishing Project

Description of Item	Quantity	Unit Price	Total	Comment
School Wooden Desk & Chairs for double persons with two storage drawers	100	\$75	\$6,500	To furnish four (4) classrooms
Wooden Rectangular Tables with smooth, rounded edges to keep children safe. Will seat Ten (10) kids per table and three (3) tables per classroom which equals thirty (30) students per room	10	\$65	\$650	To furnish three (3) classrooms of 30 students each
Wooden classroom chairs with securely braced bottoms and contoured seats, plus a built-in handle that makes easy to move and carry. Measurement will be given for seat heights	100	\$60	\$6,000	To Furnish three (3) classrooms of 30 students each
Teacher Wooden desk chair set	7	\$85	\$596	Staff furniture
Heavy duty Space maker Stand with nine (9) compartments that can hold everything from puzzles to books; with rounded corners to keep children safe	7	\$90	\$630	Storage for each classroom
Heavy Duty "Help Yourself" book stand for Library	3	\$125	\$375	Library
Eight (8)-inch high freestanding portable partition/divider. Will turn big rooms into portable classrooms.	14	\$150	\$2,100	Separate classrooms
Black Chalkboards	8	\$50	\$400	One per classroom and one as a bulletin board
Total cost			\$17,251	

Furniture Samples

All furniture to be locally produced using local timbers and contracting a local Carpenter



School Wooden Desk & Chairs for double persons with two storage drawers



Wooden Rectangular Tables with smooth, rounded edges to keep children safe and classroom chairs

Furniture Samples

All furniture to be locally produced using local timbers and contracting a local Carpenter



Heavy Duty Space Maker Stand with nine (9) compartments



Heavy Duty "Help Yourself" book stand for Library

Furniture Samples

All furniture to be locally produced using local timbers and contracting a local Carpenter



Wooden Round Tables to keep children safe



Teacher Wooden desk chair set